Signal from FE 1 Needs to match =

Ugliest Plot of the Year Clocking down latency 4._._._._._._ﬁ_7
Trigger gate

* Sara, Judith, Finn; happily beam testing H2M

* 3 shutter based readout modes, where trigger closes shutter
— shutter open for O(1 ms)

* This means we have plenty of time to collect noise hits,
thus we need to use higher thresholds

* Triggered mode allows to use external trigger gate, but need
to take trigger latency into account

* Scan the delay for different gate lengths

* Expecting about 67 % efficiency at the settings
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Signal from FE 1 Needs to match =

Ugliest Plot of the Year Clocking down latency 4._._._._._._ﬁ_7
Trigger gate
Efficiency vs Latency

* Sara, Judith, Finn; happily beam testing H2M

3 shutter based readout modes, where trigger closes shutter
— shutter open for O(1 ms)
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thus we need to use higher thresholds

o
n
m -

o
.
o

Triggered mode allows to use external trigger gate, but need
to take trigger latency into account

* Scan the delay for different gate lengths
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* Expecting about 67 % efficiency at the settings 1000 ns
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Ugliest Plot of the Year — So Far ;)

* Sara, Judith, Finn; happily beam testing H2M 0.8
- u
* 3 shutter based readout modes, where trigger closes shutter -% 0.7
— shutt for O(1 = F
shutter open for O(1 ms) 0 0.6
* This means we have plenty of time to collect noise hits, -
. 0.5
thus we need to use higher thresholds =
* Triggered mode allows to use external trigger gate, but need 0'45_
to take trigger latency into account 0.3
* Scan the delay for different gate lengths O_QE—
* Expecting about 67 % efficiency at the settings 0_13— \/\
* Excuse my French Sir: Dafuque? 0: e L A | L
0 50 100 15 200 250
* The problem: the delay we configured is interpreted as PreSEt([[ilgcnkS%yc:Ies-
LFSR code Linear-feedback shift register:
* Fast counter
* The solution: implement a LUT (thx. Stefano ;) ) :seudzlfa"dom numbers
* Scrambler
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